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WelTec Mathematics Series

General Mathematics - Addition

All trades based jobs will require you to use addition to a certain extent. Additionally, you
will probably need to be able to subtract, multiply and divide fairly accurately to make sure
you’re able to do what work you need to do as well.

In order to be able to add well, you’ll need to understand the place value of the digits that
make up a number. This has been covered in another handout.

Addition

The result of adding numbers is called the sum. The plus sign (+) tells you have to add.

Numbers can be added in any order, as the sum will be the same no matter which number
will be added first. For example, 5 + 3 = 3 + 5. This called the commutative property of
addition.

Numbers can also be grouped in any way, and the sum will be the same. This is called the
associative property of addition. For example, (2 +4)+3 =2+ (4 + 3). The sum is 9 in both
cases.

Example 1
Add 345 + 613.

Solution
In expanded form the addition would look like this:
Expanded Form Short Form
3 hundreds + 4 tens + 5 ones 345
6 hundreds + 1 ten + 3 ones +613
9 hundreds + 5 tens + 8 ones 958

"\

Add hundreds Add tens Add ones

In the short form, write the numbers to be added under each other. Put the units digit
under the units digit, the tens under the tens digit and the hundreds under the hundreds
digit. Add each column of numbers starting on the right. If the sum of any column is ten or
more, carry the number to the next column.
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Estimate each of the following sums to the indicated place value.

Question 1

a) 33+ 88 (nearest ten) , , , ,

b) 953 +38 nearest ten oriesorooneoor ot
c¢) 53+12+951 (nearestten) 000‘€TT= 00076 + 000°TT +000°0T (8
d) 896 + 675 + 33 (nearest hundred) OOOOOC;,ZZT:OOO’; 8000(;5; 30000'117 ((;J,'
e) 73+1370 + 542 (nearest hundred) 009T=0+00L+006 (P
f) 3653 + 8063 + 47 (nearest thousand) 0T0T =056 +0T+05 (0
g) 9734+ 10,505 + 91,613 (nearest thousand) og;::ozgf(s)g ((2
h) 15,973 + 829 + 7515 (nearest thousand) SIamsuy

i) 17,392+ 2085 + 1670 + 13 (nearest thousand)

Question 2

Add the following numbers. Check your answers with your estimates in question 1 for parts
atof.

a) 33+88

) 953038 e
c) 53+12+951 JTEDT (
d) 896+675+33 ST (Y
e) 73+1370+542 e ‘5
f) 3,653 +8,063+47 s86'T (@
g) 6,737 +3,519 + 8,180 Z([’g% ((FD’
h) 9,734 +10,505 + 91,613 e (4
i) 15,973+ 829+ 7,515 Tz (e
j) 17,392 +2,085 + 132,997 + 8 Slamsuy

k) 18,768 + 3,023 + 7,787,030 + 544
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Adding Whole Numbers in Practical Applications

Example 2

The production schedule for a manufacturing plant completes parts for a series of machines
each week. The number of parts manufactured during the first 5 weeks of production are
382,417, 485, 508 and 512. How many parts have been manufactured during the first 5
weeks?

Solution 2
Work out what to do

The number of parts for 5 weeks is the total of the number made each week.
Estimate the answer

400 + 400 + 500 + 500 +500 = 2300

Work out the answer

382 +417 + 485+ 508 + 512 = 2304

Check the answer with the estimate

2304 is about the same as 2300

Question 3

The production schedule for a manufacturing plant completes parts for a series of machines
each week. The number of parts manufactured during the first 5 weeks of production are
363,317, 425, 539 and 412. How many parts have been manufactured during the first 5
weeks?

000°C e awes ay11noqe sl 950°C
91EWIIS? 9Y] YUM J9MSsue ay3 )}I3Yy)d
950'C=TIv + 6ES + STV + LTE + €9€
Jamsue ay3 1no }I10M

000°C = 00% + 00S + 00% + 00€ + 00¥
Jamsue ayj ajewils3

paio|dwod syied jo Jaquinu ay3y dn ppy
Op 03 1eYM 1IN0 YIOM

Sslamsuy
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Question 4
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Five stamping machines in a manufacturing plant produce the same product. Each machine
has a counter that records the number of parts produced. The table below shows the

counter readings for the beginning and the end of one week’s production, and the number
of parts produced by each machine.

Machine 1

Machine 2

Machine 3

Machine 4

Machine 5

Counter
reading
beginning of
the week

17,855

13,935

7,536

38,935

676

Counter
reading end
of the week

48,951

42,007

37,881

72,302

29,275

Number of
parts made
by machine

31,096

28,072

30,345

33,367

28,599

a) What s the total weekly production?

b) Inthe second week Machine 1 produces 2,000 more parts than week 1. Machine 2
produces another 2,300 more parts than week 1. Machine 3 produces 1,356 more
parts. Machine 4 produces 1,560 more parts and Machine 5 produces 2,780 more

parts.

i)  How many parts does each machine produce?

ii)  What is the total weekly production for the second week?

sued g/+'T9T

6LETE
LT6'VE
T0LTE
TLE0¢E
960°€E

(1
G auIYyoeN
7 duIyde N
€ duIyoeN
Z duIyoe
T duIyoe
t (g
6LTST (e
SI9Mmsuy

The Learning Commons

i% learningcommons@weltec.ac.nz

L 0800 141 121
Updated 24/04/2018



< whitieia [ERTICR

On a particular job, the contractor’s expenses were $794 for materials, $537 in carpenter
labour, and $486 for taxes and insurance. The contractor is paid $1974.

Question 5

a) What was the contractor’s total expenses?
b) If the profit is the difference between the amount paid and the expenses, what was
the profit on this job?

99T$=8I8'T—-v/6'T (9
8T8‘TS =sasuadxjeiol (e
slamsuy

Question 6

At the beginning of the week, an electrical supply house has 853 solenoids in stock. During
the week, the following number of solenoids were sold: Monday: 57; Tuesday: 73;
Wednesday: 64; Thursday: 49 and Friday: 62.

a) Round off the number of solenoids sold to the nearest ten and add to find out the
approximate number of solenoids sold during the week.

b) Round off the number of solenoids in stock at the beginning of the week to the
nearest ten. Use this number and your answer to approximate the number of
solenoids in stock at the end of the week.

c) Find the actual number of solenoids in stock at the end of the week.

875 = GOE — €58 =035 Ul SpIOUB|OS [eny (9

009 =

00€- 006 =
P|OS SPIOU3|0S — 2015 Ul SPIOU3|0S = 32015 Ul Splous|0S (C]
00€ = 09 0S +09 + 0L + 09 = SPIoU3|0S [e30L (e
Question 7 siamsuy

The table below lists various kinds of flour ordered and received by a commercial baker in
pounds (Ibs).

Bread Cake Flour | Rye Flour | Rice Flour | Potato Soybean

Flour Flour Flour
Ordered 3875 1b 2000 Ib 825 1b 180 Ib 210 1b 85 lb
Received |36501b 2670 |b 910 1b 75 1b 165 Ib 85 lb

a) Isthe total amount of flour received greater or less than the total amount ordered?
b) How many pounds greater or less?

$q108€ =S/TL—-SSSL (g

'Sq| GGG/ = PAAIRIY [B10]
'sq| SLT'L = paJspioleroL (e
slomsuy
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